TALEEMI DUNYA

Test Syllabus: Unit # 3 (Logarithms)
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NOTE: Four possible answers A, B, C and D to each question are given. The choice which you think is correct, fill that circle
in front of that Question with Marker or Pen ink. Cutting or filling two or more circles will result in zero mark in that

question.8
In log 64 =2, the value of x is: il Sx oo log 64=2 | 1
8 (D) 647 ©) 2 (? 64 (A)
Antilogarithm table was prepared by.... SO e dgx (Sagi &Y 2a | -2
SIS L) S Sl Roneou O Ol

Arthur Cayley (D) Jobst Burgi © Henry Briggs (B) John Napier (A)
Scientific Notation of 0.0643 is : D —— pre ¥ ol £0.0643 | -3
6.43x 10* | D) | 64.3x 10 (© | 643x10% |(@®)| 643x107 (A)

The characteristics of 5.79 L mad Sagi 8 _S579 | 4
-2 [ D) | -1 ©) | 1 [ B) | 0 A)

log m" can be written as:

T L NV EN PN i Slogm” -5

log(mn) (D) mlog n

(C) nlog m (B) (log m)' (A)
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The approximate value of ‘e’ is: L= (s Ciad L 8 Se .6
10 (D) 3.14 ©) 2718 (? 0 (A)
log 21+1log 5 in the form of single logarithm is: = Copa S gt )8 a5 (Slog 21+log 5 | .7
log(21/5) | D) | log(21x5) © | log(21-5) | ®)| log(21+5) | (A)
If x’=1000 then x=............ S el Sx 59 x°=1000 8 | -8
3 | (D) | 1/10 (©) | 100 | B) ] 10 (A)
Ailidsd) A

2. Answer the following Question:

(2xT= 14) : —i¢5d Sl s aiin S Y] g i 22

) Express the number in ordinary notation.
9.018 x10°

9.018 X100 =S m adsiale | (i)

(ii) Define scientific notation.

02 S gl (S e il | ()

(iii) | Simplify by using logarithm table. 3/25.47

Y2547 .03 8 saiva w220 (S Usan a8 50 | (D)

. Express as a single logarithm.
@) 1 1og x—2log x4+ 3log(x+1) — log( x> 1)

S e JSE (S w8 a5 | (i)

log x—2log x+3log(x+1)—log( x* —1)
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(v) | Find the value of x if : log, x =4 log, x =4S aslaecad x> | (V)
(vi) | Find the number whose logarithm is 3.5621 -5 3.5621 e S agi 85l S Gaa 3 Sasledxe s | (vi)
(vii) | Define logarithm. - S c i (S a8 | (i)
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Note: Attempt the question in detail.

(4+4= 8) - = @l i S J) g Jud 7 0 1058

Q:3 (a) :Use log table find the value of:

83x1/92
127 x3/246

S aslae el ade (S0 g8 (Cll) 3 el e
83%x3/92
127 x3/246

(b) Use log table find the value of: 0.8176 x13.64

0.8176 x13.64- =38 o slan Caad w330 (S I o681 ()
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